Mobius Math Club Name:

1 Multiply the radical expressions and simplify

m bi us the answer

Math worksheet on ‘Radicals - Multiplying AV, 2Z . (Z \V 3Z — 5Z)

Monomials with Binomials (Values and Variables)
(Level 1)'. Part of a broader unit on 'Radicals -

R a 3. /6 _ b 2 2
Multiplication Intro’ V6 -52v/2z 2°V6z — 522z
c 23v/6—-523v/22 d 236 - 52222
Learn online: app.mobius.academy/math/units/radicals multiplication intro/ f
e 2365232 2°v/6 52222

2 Multiply the radical expressions and simplify 3 Multiply the radical expressions and simplify
the answer the answer
2
V3 (2p\/_ +4/2p) pv2p- (p°V13 +3,/p)
a 2py/D + \/6p 2p\/3p + 6 a  p3/26p +3p*\/2p b p*1/26p + 3p*V/2
2p+/3p + /6p d 273+ Vop C  pV26p+3pv2 d 26+ 322
€ 2p)/3p+6p f o 2y3p+3y6p € p*V26p+3p°V2 f p*\/26p + 3p?
4 Multiply the radical expressions and simplify 5 Multiply the radical expressions and simplify
the answer the answer
p\/i-(3+p\/ﬁ) (3r°—7r \/§)\/?
a 3pvV2 + p*V2 b 3p + p*v22 a 4r2\/7-r2V/21 b 3r2V/7-3r?V/21
5pvV/2 + p°v/22 d 3pV2 + pPV22 c 3r?2V7-rv21 d 3rvV7-1r%V21
e 322422 f o v2ipv22 e 3:2y7-2V21 f o ossvi-va
6 Multiply the radical expressions and simplify 7 Multiply the radical expressions and simplify
the answer the answer
(c \/13+4C)-\/§ n?v'5 - (nV13n — 4n)
a V65 + 2¢v/5 b V65 + 4¢3 a n3v/65n — 4n*v/5 b n*V65n1 —4n3y/5
C  2V65+4cV5 d 4265 1405 C  3Vesn—4n’V5 d 2650 -4n3v5
e &+ 4cv/5 f V65 + 4c €  3V65n-4n°V5 f o V6B - an?VE
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